A £ 0l & AF & S

Al A

el =02 & It (EEEE))
SA - HH - S9I(SH) - HRAY - BAS of e o= o HIDS2

Aot 26,271,203 25,174,822 1,09, 381

= 4,663,958 3,921,731 742,227

= 1,313,000 1,313,000 0

7 318,562 318,562 0

£ 700,000 0 700,000

< 5,794,675 5,796,866 A2,191

= 13,221,008 13,564,663 N343,655

H 260,000 260,000 0

ARITHE =4 2 'Y 9,633,078 9,675,158 242,080

= 2,593,657 2,614,697 A21,040

< 2,832,287 2,838,599 26,312

= 4,207,134 4,221,862 14,728

=02 = R0 3,300,201 3,342,281 242,080

= 1,650, 101 1,671,141 A21,040

= 495,030 501,342 NB,312

= 1,155,070 1,169,798 N14,728

A= 202,000 244,080 242,080

= 101,000 122,040 A21,040

= 30,300 36,612 16,312

T 70,700 85,428 N14,728

401 AIEHIL20HY] 202,000 244,080 A42,080

= 101,000 122,040 A21,040

< 30,300 3,612 76,312

= 70,700 85,428 N14,728

01 Al&HI 188,500 230,580 242,080
O3=IHI1(P0ha)

244,080,000 77 .2285% 188,500 230,580 A42,080

= 94,250 115,290 ~21,040

< 28,275 34,587 76,312

o 65,975 80,703 A14,728

02 22l 12,000 12,000 0
O32=IHI1(%ha)

244,080,000 *4.9164% 12,000 12,000 0

= 6,000 6,000 0

< 1,800 1,800 0

i 4,200 4,200 0

03 Al CHYI 1,500 1,500 0
O32=IHI[(%ha)

244,080,000 *0.6145% 1,500 1,500 0

= 750 750 0

[ 225 225 0

i 525 525 0

oY ZHH Ast 4,325,654 3,559,766 765,883

= 1,541,609 778,342 763,267
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A -3 - SRAE) - NRAY - BES Ofl &F2H I3 A Hwusz
== 974,766 972,145 2,621
s 1,809,279 1,809,279 0
& 60,088 52,224 7,864
= 5,243 0 5,243
= 6,599 3,978 2,621
[Ea 48,246 48,246 0
0244 78 S<2Ulol 240 HE Mot=s-8l X 6,817 0 6,817
= 4,545 0 4,545
=S 2,272 0 2,272
302 OIF=HL Mol 2&t= 6,817 0 6,817
= 4,545 0 4,545
== 2,272 0 2,272
02 2RI S A ES243 6,817 0 6,817
Q20243 7.8~19. SRTNABHES X (=4
545, £2, 27283 FHEEH)
6,817,000& *14] 6,817 0 6.817
= 4,545 0 4,545
== 2,212 0 2,212
20243 92 S<Uloh sHES=E ST 1,047 0 1,047
= 698 0 698
LS 349 0 349
302 OI=H o2& = 1,047 0 1,047
= 698 0 698
= 349 0 349
02 2N S ES243 1,047 0 1,047
Q20244 9.19.~21. 5 Uldl dHHE SR X
=698, T340 =JLHEHN)
1,047,0002 %14 1,047 0 1,047
= 698 0 698
[ 349 0 349
geol ASEU & MEBY 245 2,299,069 1,541,045 758,024
= 1,489,145 731,121 758,024
T 328,009 328,009 0
i 481,915 481,915 0
gexEs s 904,514 146,490 758,024
= 04,514 146,490 758,024
301 EtE NS 904,514 146,490 758,024
= 904,514 146,490 758,024
14 0Bt 2as 904,514 146,490 758,024
O2024 e - &t SAMNTRES
3,211,9662 x236d 758,024 0 758,024
= 758,024 0 758,024
=k xd2el 5,516,042 5,516,042 0
= 116,606 116,605 0
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SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
s 250,000 250,000 0
| 318,562 318,562 0
£ 700,000 0 700,000
= 638,133 638, 133 0
= 3,492,742 419,742 A700,000
LEE =4 & 2l 1,864,687 1,864,687 0
S 700,000 0 700,000
i 1,164,687 1,864,687 A700,000
T A 1,864,687 1,864,687 0
£ 700,000 0 700,000
i 1,164,687 1,864,687 A700,000
401 AIEHIZL 28I 1,360,000 1,360,000 0
= 700,000 0 700,000
= 660,000 1,360,000 A700,000
01 AlEHI 1,347,760 1,347,760 0
OLREY AlMotRA AX(HEHAE)
1,200,000,000% *98.98% 1,187,760 1,187,760 0
£ 700,000 0 700,000
= 487,760 1,187,760 A700,000
02 2cldl 12,240 12,240 0
OYRH AssieA &1
1,200,000,000& *1.02% 12,240 12,240 0
SEAEAMSX =R 28 X2 924,208 921,208 3,000
= 329,000 327,500 1,500
i 335,208 333,708 1,500
CH 260,000 260,000 0
SMHEXIRE Ad R HAHAMY A 924,208 921,208 3,000
= 329,000 327,500 1,500
= 335,208 333,708 1,500
CH 260,000 260,000 0
SEHAGHMS IR KL REEMY =& 658,000 655,000 3,000
s 329,000 327,500 1,500
= 329,000 327,500 1,500
401 AIEHIZ 2018 658,000 655,000 3,000
= 329,000 327,500 1,500
= 329,000 327,500 1,500
01 AlEHI 658,000 655,000 3,000
OSSAE A 658,000,000 14! 658,000 655,000 3,000
L= 329,000 327,500 1,500
i 329,000 327,500 1,500
HREs () 373,856 4,283 369,573
SBEXIE(AH D 373,856 4,283 369,573
SBHEXES(4H D 373,856 4,283 369,573
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802 Btat=20|E 373,856 4,283 369,573
01 2DEX 22 229,470 0 229,470
02023 FHEZS A 14,004,900 14,005 0 14,095
02023 M XA (01X}
982,470 963 0 963
02023 2URBARZALY
3,867,500 3,868 0 3,868
02023 2L 2T A (01 X})
134,730 135 0 135
02023 Ar2I THEH 2R =& ALY
7,099,500 7,100 0 7,100
02023 A2 THOH L XI =&AL (OIKF)
354,240 355 0 355
02023 XISESH ALY
3,287,500 3,288 0 3,288
020233 KIHESEZ2IAA (0l
120,580 121 0 121
020233 EFAM 2 ESIALS (01K
84,520 85 0 85
02023 HE=IIRI| ALY
11,663,580 11,664 0 11,664
Q2023 F ===t RI| AL (01 AH)
1,847,370 1,848 0 1,848
020233 BRI AFY (RIS &HOH)
781,000 781 0 781
Q2023 2= IR I|AFS (01K
62,4902 63 63
O2023E 2MHE ZE& 22 10,000 10 10
02023 2MHME ZE&22/(01KH)
5502 1 0 1
020238 222 A 2L
922,000 922 0 922
02023 2x+=2t HH22I(0IK)
48,1002 49 0 49
020233 ZI&Hd =2 IHAHAH
20,000,000 20,000 0 20,000
02023 212tA STHAAHOIA})
36, 1602 37 0 37
Q20238 MM IR |(H S AZIHFACH])
79,897,990 79,898 0 79,898
020233 HR=IIRI| (M T AR FHEX]) (0]
X 20,437,860 20,438 0 20,438
020233 AFRITHBH L XI2| S(A2XR 20
ZISHCH) 2,770,320 2,771 0 2,771
020233 ARITHBHL Rt2] S| (Ar2X 2002
ZISHCH) (01 RH) 639,480 640 0 640
020238 ALZ0IRIH S 29(F4)
2,126,070 2,127 0 2,127
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O223 AE0IZAH P& 29 (24 (01X
25,9102 2% 2%
O3 AZFSMH 7E 2(J4)
247 0402 248 248
0223 AEXEHH PE 2(34) (01X
9,70024 10 10
O3 MEXSHH PE 2(X2)
17024 1 1
02023 AEXSHHH 7S 2(XH=) (01X
20, 1002 21 21
O2023 AALER FIXIS U AHZAIE 22
2,868,3302! 2,869 2,869
Q2023 AALER FIEXI U AFZEAIA 2ERI(
OIXt) 13,0602 14 14
02023 ARITHGHL K] EHDI(AFALERS O
BHCH) 34,8502 345 345
02023 ARITHGHL X2 EHDI(AFALERS 0
2reh) (01K 33,5708 3% 34
02023 YBHHHSLH (2 E)
1,499, 4402 1,500 1,500
02023 LBHHHS LR (2E) (01X
60,5002 61 61
02023 ARITHSHL X2l ZII(ARIHTHE O
ZURISHBY)) 1,544,910 1,545 1,545
02023 ARITHSHL X2 ZII(ARIHTHS Of
ZYRHISH(ZA))(0IX) 14,9909 15 15
O3 SHHABU 2Z(FE)
9,782, 1002 9,783 9,783
O3 SHHFUe] HZ(FL)(0IX)
65,5002 66 66
O3 ZBBANE T 22
5,6002! 6 6
02023 TS LS THHHZH2I (0 X)
7,050 8 8
O2023 ARITSMAIEHR| (£%)(0IH)
44,3502 45 45
02023 242 Ma|E Z& (01X
33,8802 % %
O3 MYSBASCT T (BR) (Y
) 4,000,300 4,001 4,001
O3 ARI=EASER E4(32)(0IX
24,6302 125 125
02023 UAS AHES X2 (FBTH)
1,805, 8502 1,806 1,806
02023 Y4t AHE3 XA (0IXF)
22,2502 23 2
O3 Y42 RSI|E T (FBT)
1,399,01084 1,400 1,400
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A A
Hu: HRES(AMED)
Ciel: SAXIE(AED) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HunsZ
02023 AH2I THoH 2 X =2 AR (OIAH)
283,250 284 284
02023E XSS A 986,650 987 987
02023 XIASSHE2IAF (0IRH)
36,250 37 37
02023 EFA M2 EZI AL (OIXL)
73,930 74 74
020238 HMZIHRIIALY
3,500,080 3,501 3,501
02023 HEM=IFRI A (OIRE)
832,180& 833 833
020238 SA=IHHIIALS 234,600 235 235
02023 B2A=IHRIIAFS (01 R})
18,740& 19 19
O2023¢ SMHNS S& 2l 3,000& 3 3
020234 SMHHE SE 22l (0IX})
170& 1 1
020238 S =+=t HZ 22|
276,300 277 277
02023 S8 HZ22l(0lX)
14,4204 15 15
020233 zletd STHA A 6,000,000& 6,000 6,000
Q20238 & STHAAHOIX})
10,8403 " 11
02023 HIM=IRI|(H AR A S HRI)
10,272,600 10,273 10,273
020233 FMIpRI|(H S AHZHEXT) (0]
xH) 2,627,720 2,628 2,628
02023 A THGHL K2l SHOI(ASE 20
ZISHCH) 1,246,6302 1,247 1,247
02023 A=ITHOHY K2l SOl (A2 20
ZISHCH) (OIR}) 292,180& 293 293
02023 AZ20EHA 25 2L (B 4)
956,730& 957 957
02023 AFZ0IZLHA 7= 2L2(Z4) (01X
12,850 13 13
02023 AZ2RSHHA 25 2L(ZY)
11,1703 112 112
02023 M2ESHA 5 2Z (24 (01X
4,810& 5 5
020233 A2 &SI 2E 2E (Xh2)
80% 1 1
020234 M2XSHA 25 2LG(X+2) (01X
9,960 10 10
O2023F AFAEH FHAXIS L AFZAIE 22
859,200& 860 860
O2023 AAFEN F XIS L AFRHAIA 22(
OIXH) 3,910& 4 4




SN A
M THRES (A
ool BEXIE(AED) (S &)
A -3 - AA(3H) - MRAY - BE= 04| AkeH Jl & o Hns2
Q2023 AHITHOHL X2l S| (AFAFERS 20|
BrCH) 362,630 363 363
Q2023 AHITHOH L X2l S| (AFAFEN S &0l
SHCH (01X 35,400 % K
02023 LBHHEGHSEM(EX)
235,990 236 236
02023 ABtHBNSEHI(EX)(0IAH
10,230 11 11
02023 AtITHGHL X2l &D|(AHIEH6HS ol
ZHYHSH(EA) 463,460 464 464
Q2023 At oL X2l HI|(AH&H6HS o
ZHOETISH(E AL)) (01X 34,403 3b 35
020234 2B B2 (FHR)
3,912,8402 3,913 3,913
0203 2MESEA E2(=EK)(0IXH)
20,670 21 21
020234 =AU ALZ THBH22
1,700 2 2
02023 RIEtHAAS THEH22I (01 AH
1,280 2 2
Q2023 A XS M AR (A 2H) (0] AF)
22,6202 23 23
02023 it=2 MAD B ZH (0|
20,870 21 21
O2023¢ AE=stH3YC] 248(22)
2,000, 1502 2,001 2,001
02023 AtI=28r A AT X8 (22) (01X
52,2902 53 53
Q2023 APFAH MANDFAE 2HOI(0| KH)
63024 1 1
020234 Aat= AS5 K&
1,354,380 1,355 1,355
Q2023 A2 AE3E XK (01X
12,330 13 13
020234 AitE KRS8 =4
1,049,260 1,050 1,050
02023 s RED|8F 24 (0IAH
12,340 13 13
Q2022 K5 AXHR9 TRSIAIE (B2)(
oJ=)) 1,788,000 1,788 1,788
O2022E K5 A XIS XHASIAIH(Z22)(
Ol&)(0IXt) 9%,0002! o7 97
Q20238 AEMEHDISSIULIM(EX)
181,450 182 182
02023 AHZEMEHDIS2S0HLIM (2X) (01X
4,440 5 5
020238 =olle 23 1,709,3302 1,710 1,710
02023 =olld 2H(0IXH) 19, 130& 20 20
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X XH -
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=aak

A -3 - AA(3H) - MRAY - BE= 0ff &r2H Jl & o Hns2
020238 2ZARIDIR)| 29 X
2,160, 1602 2,161 2,161
02023 2I2AZIDIIRD| 29 XK (01X}
51,820 52 52
02023 AAD|H HHIZS
1,594, 1302 1,595 1,595
020238 LA H ZHHIZ2(0IXH)
45,3902 45 46
020233 AT HE HAIS JHEHE XA
(0l 4,840 5 5
02023 AH22EAI 12,750,430 12,751 12,751
020238 AHE2EAIZ (01 X}) 236,310 237 237
02023 2ol BEAAX B3(0IXH)
11,070 12 12
02023 428 AFZIZ2 Wallloh 27X
125,000 125 125
02023 48 AHRIZIE WHliIIGH =7 XK (0]
X+ 10,5709 11 11
020234 =2 T H2AL| (X2 ) (SAZ2H-Y|) (A
SHAFSY) 8,076,7402 8,077 8,077
020238 =LA X2 (X2 ) (SA2HH|) (X
BHAFR!) (01 AH) 1,704,800 1,705 1,705
02023 NASAUTH (ASIREE ) (M E
Abet) 1,079,320 1,080 1,080
O2023F XIS A2 XA (A2 EE k) (HE
Ared) (OIRH) 1,068,280 1,069 1,069
O2022 ROI=EME (T XNEATUHEIIS)
20,788,170 20,789 20,789
020229 ROF=HER(E XLASUHEINZ)(
OIX}) 817,110 818 818
02023 ARIMHIAZ 0] 29 X2 (=2ZH
BIXIS AL 312,660 313 313
02023 A2IMHIAZ 20| 29 X (=2
S XIS AF)(OIX}) 11,560 12 12
020234 MBIMHIAS 20| 2GRS (=2 A
XIS AL (HE 260,6102 261 261
02023 A2IMHIAZ 20| 29X (=2 H
S XIZ AL (XS (0IKRF) 43,850 44 44
02023 TAl=X|2t2|c 29 X
1,370,570 1,371 1,371
02023 TAl=X2t2|e 29 XK (0IX})
190,030 191 191
02023 HA=ACIHIOIH 29 X
2,096,510 2,097 2,097
02023 Hal=ACIUIO0IEH 29 XIZ(0IX)
192,260 193 193
02023 B52-22|(0IXH) 4,890 5 5
020234 LIRS xA 5,584,1102 5,585 5,585
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ool BEXIE(AED) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HunsZ
020234 LIR28 =4 (0IXt)
101,080& 102 102
o202 A= =4(01€)
4,464,000 4,464 4.464
020224 = Al= =4 (01=)(0IX})
87,200& 88 88
020233 Jt2= ZHAHY
14,728,800& 14,729 14,729
020234 JtZ2= RS A (0IA})
315,230& 316 316
0202348 TAl= ZHAS 5,499,760 5,500 5,500
020239 T A= =S AL (OIAL)
747,270& 748 748
OB HE0ISE =AY =X
530,500 531 531
02023 ME02= SJALY FX(0IAH)
94,270 9 9%
02023F FEXGALMHXSH NSHH 2
SHAFS 4,960,650 4,961 4,961
02023F XN EAMSR=E NSAHH 2
SHAFZ(OIXH) 68,6002 69 69




